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= [T W& / PART ONE 13 ArduinoIDEH 2 haRFEd el 3&Is ?
N"ﬁ vl P IR % / Answer all the questions) £ ﬁﬁg() eﬁ?qqo
(®) Jesm( AR IIO
1. ﬁ%mwﬂa‘m%ﬁﬁmﬁqm © Team() iR =)
¥ U e SUgEd faPey g 3R S8 Uy O T IR s iR Jesmp
::_{a; '\‘lT?% 5 ﬁ'ﬁ,’ — ﬁ“%i; » b Arduino IDE consists of 2 functions. What
. ' TR, are they ?
Each question below gives a multiple (A)  Build() and loop()
choice of answers. Choose the most (B)/ Setup() and loop()
appropriate one and enter in the “OMR” (Q) Setup() and build()
answer sheet supplied with the question (D) Loop() and build() and setup()
paper, following instructions therein.. _
(1x10) | 14 ATmega328p & p T R & 2
11 BHENCEE aEcae § 2 (A) e
A)  MQTT B) HTTP \ G T
. e @ TR-UD!
(© CoAP ©) SPI © PuRITEeGEE
Which protocol is lightweight ? What does p refer to in ATmega328
By marT (B) HTTP @ Production
(C) CoAP (D) SPI (s Poa- Bowe
() Power-Pico
. D) Programmable on chi
12 LM35 S AR g ? © & i
(A TEEER 1.5 THSICH Qi Hopi-er b BT ST ?
(B) SMTSdl ¥R (A) X
© aIHE AW (B FATT
Dy TIIW
Which sensor is LM35 ? ) )
ve locking mechanism ?
(A) Pressure sensor -
(B) Humidity sensor
\(C)/ Temperature sensor
(D) Touch sensor
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(C) wRmH (D) AT

Communication is a non-stop

(A) Paper (B process

© | programme (D) plan

17 BURISIABIS AR &1 T 3aIe 0
gl
n TfEs ®) R-A®
© fofea (D) el S areft

Our dress code is an example of
communication.

(A) Verbal

\gy non-verbal

(C)  written (D) spoken

1.8 TldbCI DI TR HRA DI T THAH @ ?

© fonmel (D) =YY

Sonos is a system that uses
wireless speakers.

(A)  WiFi B HiFi
(C) Zigbee (D) Bluetooth -
1.10 e dgq gicfafe g8 g¢d IoT

fOwiftet & Ty ARy getam™ s &l
Al TR B

(A) JFEIT T e
(B) IoT Kit-SUdRITUdH

(€ THTHYY fiaa

V'
| A) SIS Sl &1 Sy
e (D) SHA
(B) PO IUSIIH 5l FHIT PRl © :
RUTE & 3 command (ine utifity alfows us to
@ P A el perform specific interactions with Intel IoT
(D) TRHd SERRH analytics.
What is the drawback of using Lockitron ? (A) Local Agent
(A) Wastage of more energy
\ 8~ o Kit-admin
-@/ Supports in some devices only -
(C) Won't work at some conditions (€ SSHTe
(D) Tough installation (D) Daemon
e
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Badee. 4. L’r".‘ "F S

2. Qﬁ%‘lézi;ﬂmmﬁmmma‘mtﬂmm%l TP Tad SUYH Ao g4 SR ST fawey

T U P 1Y UK P T “3NTHAR” IR T H, 3w 7e A= & R g F31 (1x10)

2.1
22
23
2.4
25

2.8

75 foarey omed! wiad gfie MESfeWRR( globally unique identifier) BT TG
Taet IR Rs-232 R ifrex-giforer difore & s diecs & WR $I uRafdd Bl o
TRERS FOR e T uftrar & R Faa e ok R-01Ree Fe=1 SorT i B
SHTH-SITRE T 3HTIS TG P S IR J T8 |

T JRET T KP-ABE 3R CP-ABE & W1 WdTiad fovar 2 ol

i & ey & T fearsE e U uide e F IuH 8|

IoT U UfaH & Sl TafaRor § 9dx SURId a1 6

IREdT deest TR TR SR BT TH ISE0 B

CoAP IETF A& B

2.10 publish() arbitrary arguments P WIHR B g

Each statement below is either TRUE or FALSE. Choose the most appropriate one and enter

your choice in the “OMR” answer sheet supplied with the question paper, following
instructions therein. . (1x10)

T 21
T 22
23

F— 2.4

New device ID should be a globally unique identifier.
The level shifter converts the voltage levels between RS-232 and transistor-transistor logic.

Interpersonal communication is a process that involves only sending verbal and non-verbal
messages. :

Self awareness is knowing about your personal skills.

T 2.5 Privacy protection solution was proposed with KP-ABE and CP-ABE.
T2.6 Mobile device management similar to that of end point pt_;gtg._ction with respect to locking.
[F 27 IoTisa paradigm that does not involve ubiquitous presence in the environment.
T 28 Variable Voltage Sensor is an instance of Analog Sensor.
T 29 CoAP is a IETF standard. .
“T210 publish() method accepts arbitrary arguments. _% :
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3. piaw X ¥ Ry U Ik} ofk are 1 frar siaw v ¥ e Feean S&ita o 7 wsdi /
Tt A Y IAH 3T T SN BT Ul P §U AUA fIHeu Uy v & ¥y g

“INTHAR” IR UF | g5l B | © (1x10)
HIGH X PIAH Y
31| T, £_Id SB35 3aIEIU & A | e
loT & fw 9ga % e HIaH
32 | P SaRTHdl g 21 TRIfad "®Re [ B | pufifiea T
WY Y& 9o B 1 Hel SaI g ?
3.3 | GSN H ged HeR/UICIpld | c |We
34 ¥ B H %QGﬂef il S D |YT® (Linear)
UHR| ‘
35 | NS M 9 Hefid gid B E | UReH
4 | DEVICEInit & fere i foa N [F—
ST gl )
3 PubNub Gl c AP i
2 | geumEI BRI ©
| Lot a9t % Ferder @ vE
3.8 SR H\ | Tl (keys)
39 | URUasHT I | 3 ga® (Schedular)
ARM7 ToT ¥ bus cycle WX Wﬁ'ﬂ
PR si s o em | ) | AR E WS

87
K |GPIO
L | IoT 3I-Ren
M |deadem
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M?tch words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
“column Y. Enter your selection in the “OMR” answer sheet supplied with the guestion paper,

following instructions therein. (1x10)
Column X ColumnY

Letter, e-mail telephone are examples o
3.1 Feminine
) of-

Nt \

Internet of Things needs a IoT of

35 network connection. What is the bt e touch
: pacitive tou

proposed  “white  Space” radio |

standard called ? E
3.3 | Sensor/protocol used in GSN = G_‘ / Reset

\V/W : !

Sensors used in mobile phones are ‘of .
34 , Linear
v/ | type i@
3.5 | Countries when referred to by nar@s Weightless

J ;

3.6 | DEVICE_ Init is called for < BTRAN ° &
3.7 | PubNub publishes and subscribes.\a\ CoAP

The metadata of the IoT services is
38 : Keys

managed by *-:
3.9 | Pipelining ‘ Schedular

g s : S el
S Which s;g‘na! is used for pipelining on Mot ko
—/ | bus cycle in ARM7 IoT ? F
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. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list

below. Choose the most appropriate option, enter your choice in the “OMR"” answer sheet
supplied with the question paper, following instructions therein.

(1x10)
public_key and '
A | Cloud and controller Code Blocks
- | subscribe_key
& - .
D | Tens of thousands of datz 4 Applications masculine
G | Analog { RETful API - |
. =
J | Network and Cloud Add on modul@:i' ,'
M | Digital 9 . 4
= F
4.1 Smart phones can be used in ToT setup with

4.2 Personifications of strength and violence are cor

The S speech is also called as reported

44/Ardu|no shields are also called as \E

3P

j.?

4.8

4.19 Single 10-bit DAC provides variable g""lou

\ board allows sewn into cfothmg

sr} allows us to control electronic compon

and saves the publish and su

the PubNub Admin portal.

Gateway provides the connection between ‘ \_ and

4.9 _/ Sensors provide s ) data per secon‘dﬁr
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UYTT & / PART TWO

(a) IoTﬁﬁW&'ﬁ@fﬁTﬁﬂﬂfWi
, _ , Rt TR  FG3 B TS |
(ﬁﬁﬁmﬂ%ﬁa?ﬁ'ﬂ?ﬁ'/AnsweranyFOUR ©) St SR e .
questions) TEHTRR B 3R Wy FIRI
_ @ IoT ® HiRmd HHTHTA-SCB R
5. (s S o R (om) #@T R 7 loT HC-05 BT GUH BRI
%ﬂ%ﬂﬁﬁ%ﬁﬁﬁ%%@ SaRID (a) Discuss the role of sensors in IoT.
TeF T § R 5 IueRul @I loT Explain the various types of sensors.
JUHI0T del Sdl ® 7 3au gfgd (b) What is Microcontroller ? Differentiate
BERIEY between microcontroller and
(b) IoT ﬁ'{R&ﬂ & IS 2 g MiCroprocessor.
i v 3 R A Hieq SR (c) Describe serial communication-
SreRa st interfacing HC-05 in IoT.
: (5+5+5)
© 39 offp R o gexae offte e o
T AR E 2 @ faftr & H loT TfReRE 3R
aRkfrieH TReEsd @ ATt B
b) Sexic 3ife A (oT) # Wi AT ot
(@) What is Internet of Things (IoT) ? What 0 lLﬁfIET 27
are components required to design IoT © Arduino wewnrr § feltea €M
Device and which devices are called m‘ﬁ[fﬁqﬁ;maﬁmﬁl
IoT device ? Explain with example. (a) Explain IoT Application  and
(b) Why security is required in IoT ? Deployment scenarios in different
Explain in detail various security model domains.
in Internet of Things. () What is role of machine learning. in
‘ Internet of Things ?
() What is the difference between Web of ©  Explain the working of digital versus
Things and Internet of Things ? analog pins in Arduino platform.
(7+4+4) 2 (5+5+5)
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8. () Wk oM o oRufg oY
i fawma & g FuiRa saure!
B! AT BT
" (b) DHT ¥ R LED P! TXBE I b
fow T o Umm (C PROGRAM) ferdl
agaE 35 Sl 4 IW & & 9
" U LED R 311 |

(@) Define personality development.
Explain the determinants of Personality
Development.

(b) Write a C program to interface DHT
sensor and LED. The program will
switch on LED once the temperature
rise above the 35 degree? .

(10+5)
0. fTfafea & 3 gl &5 =t d@&u § =re
PN
(a) TIR PR P Ied AR U0
(b) IoT ¥ SIS <l
() TCP/IP §-I1H OSI Hisd

(d) U,H«"ELQEﬁ (Actuators)

Briefly explain the following (Any three) :

(@) Objective and attributes of
Communication Skills

(b)  Functional Block of IoT
(c) ~TCP/IP versus OSI model

(d@ Actuators

(5+5+5)

-00o0-

»

10 | Page SPACE FOR ROUGH WORK



